£17E

ERET M8 —BELBERXS

2018 7RTH (1) R

2018/07/07 22:04:07 Page: 1
S =3

18410191 — R
EREELERIT  wo
5 | BE% | A 148 24 34t 4t 54 611 74 81
100m V1 [ER 'R Q) 11.11/-0.3[hRAKEB 6)  11.39/-0.3[mb & 11.42/-0.3|@L &£ 11.64/-0.3[&2 ME @) 11.95-03[KkK A (4 12.04/-03[LuO@AE (2 12.38/-0.3
R L3 hotn 5 29509 51h 3y Y 29% 9 v HEE 997 29509
AKELH AKERH aEFAVE R %) AKERH el -X)
5000m EEEES 14:52.28 15:30.54[ &8 M 15:35. 62| @t =17 15:37.71 [ 4 1543 42( AT B () 15:44.08| 5% B 15:45.99) 8@ @& 15:58.45
'S vans tat 998 7% tnak 1y 2% PURE s/ 95" by
ABT BHERAY ek Y 3-8 S-E-P EHERAY S-E-P Emaz
200m A 22.73/-0.2 6 23.14/-0.2[ L £ 23.42/-0.2| %32 ME (3  23.97/-0.2|RE #E O 24.45/-1.0(F #HE Q) W 197 BRH 25.00/-1.0[ WOBXEA (D  26.11/-1.0
5th 3y 3 Ya9sng e 9% 1 vaR 1398 b4 B ARFE Q) NN th ER 9 F 29509
aOFAVE AKESE ERER d L) =iz d L)
400m BT ERC) 52.63| M BT (2 5410 kK HA 4 54.68| B HA (1) 58.84
. 107 Mr W 4r Aad BER A5 195
B ERS AKESE PR
1500m 7/ | BeRAL 4:08.35%8 W 0O 412,28 &R = () 412.87(0 X% () 4:16.28| MEBHE () 419.2(L0 @E 4:19.93|EE XfF @) AT T 4:23.70
5th #3950 I Hh ks 9% wF Ay w97 b IR REY £547 b
FLEH EEBEXE HHRER B HHRER B BEKERE B
3000m 7w & O 8:28.45| A HEX 8:33.23|\% E# O 8:37.54|1EH BA 8:41.66|88% %t 8:43.49|EL WA 8:43.64| AEALUE () 8:50.56| kB I (1) 8:50.43
Y 7% 3Hen o w43y Y1k 29} VEH S5% 'S vany 549 54k O W
[SLISL ABT BARES B RIGERRKS ABT [SLISL BEKEXSF
BF—Rleyr |77 |88 B4 @ EIE T ) 3Tm17
(0. 800kg) MW 293y 35 19
P d L)
BF [®@® | 7/7|w0 ® @  5n60/+1.0|AK & () 4n11/-0.3
YF R R A 9%
ER$ B
100m VT |R&R EwE @) LBH0TNE EA @ 173407 RE &R Q) L8740 7[XNMEE () 11.90/40.7[FR HE () 12.12-+07|ER WA ) 12.13/+07|EH M Q) 12.29/+0.7[@AFB (3)  12.33/+0.7
Pra %17%‘ ES 1905 195 ix'm 4 i_ﬂ‘ii Y 979 197 0 vany l_\ nEhy 11{% 909
Rt B+ B B ER$ B+ B R
800m 71 |BKR &K @ 2:07.38| 4 K () 2:09.10[3h7EZA (2 2:12.93| K& ZE () 214918l B&% O 2:18.61 @ ik (3 2:21.34|&L #X 2:52.71
Wt 193 ES RV ] S 39 Ya9/3y HR o YT EE M MR 105
iz R E RS ER$ B Rt ER Rt
100m 71 |EH BE 6 14.29/-1.1|FH BE 6  14.99/-1.1|FK mE () 15.30/-1[@i B ()  15.68/-1.1[#ER SHE) 15.87/-11)Nm s (5) 15,95/~ 1|MI BE (6)  15.96/-1.1[H EA ()  16.05/-1.1
- Pk 299 €5/ a9t B4 YR 59 V'Y 5 M7 7 ek 59 e Xt
FHREZE PHE=E IRRC IRRC BETa1=7 WHEREEY 5T IRRC PHE=E
1000m ARG 3:00.82| RE ER (6 3:18.89|F #& (6 3:23.03| MTRAR  (5) 3:27.80[ N #K (6 3:20.57[%8% x® 6 3:30.22|fE ER 6 3:33.88[f A& (O 3:37.24
ok g 5k 9t 547 99509 E ] YT Wb 190 e 3 294
KHEEE KL REa1=7 RET21=7 $8Ta=7 IRRC BRE=F FRE=F
100m 77 |eE BF () 13.96/-1.0]%A BZE (1)  14.24/-1.0
" ERVEY)) 77 73
EFR fEAKS il
800m 71 |BR BE () 2:32.14|F I B () 2:36.37
Mt Wb £547 T
EEE FRH
200m 7T |8k BE () 21.31/-0.4|®E AP  21.94/-0.4|FE BE (2 28.51/-0.4FAM BE&F (2 28.72/-04[ERIZA (2  28.96/-0.4|BK MK (1)  29.87/-0.4[RE E& (1) W ¥ NEH /
Y 2y 3t 7o/ I S 18 4% 550 120 % 3 ET o O ST
Rittp FHEH Rittp -5 Rittp -5 NR B () A7H 7R IS
TR O) (1 19 Rigdeeh
BORAE () 997 7 gD
g |%0m
1500m ) 5:47.4| A% RE (1) 5:49.5|2F #F 5:53. 15|24 &H () 6:06.81(48)N H ( 62378
R 1A 2293 ha ¥ [EISELI 7440 &L
ERER Rit ER$ Ritp Ritp
3000m 71 |&58 #F 10:02.70| &% BE 10:21.92| %% 2% 10:31.29| F AT 10:34. 88| ZEMEE ) 11:43.32|ES #E (1) 12:19.99
VN EDZAVETI Y 74t E3t7 $)2 Wy wh /TN
AEY—F AEY—F AEY—F AEY—F BT BT
ZF—Reyl |77 |58 @x O 29142
(0. 800kg) I 2
%)
EF |®msk | /] k& —%F () 4n69/+0.3|#A OB (3)  4n22/+0.6| TNl WA () onds/+0.5|3E B (1) ndl/+0.8|BHE =M (1) ni3/05
E05R 47 WER W 517 1/ W 797 7ot
Rt Rid Rt Rid Rt
100m VT|FFE £ () 133811k A2 () 1340118k HE () 13.43/-L1[mE An (2  13.79-11|EM B& (2  13.80/-1.1|FE BE (0 13.86/-1.1|ARICZ (2 14.20/-L1[BK MK () 14.44/-11
I i 3 IR Y 2y 3t 7o/ 130 % Pa=r] 550 120 % 3
Ritp Ritp Ritp FHES iz Rit Ritp B
800m 71 |EE #x @ 2:26.24| @t FE (2 2:31.90[ILF #HF @ 2:38.21(w0 #& () 2:39.31|#E T8 @ 2:41.32[08 2 () 2:45.70[@@ A& () 246 71RE & O 2:48.19
#99 HF 550ty wh wFTH 7HY Fea 115 134 5 3% E Y
B i3 B i3 B R Ritp i3
100m 77 |kE B 6  13.52/-0.3]&M M () 14.25/-0.3[%E YA (6) 14.64/-0.3[EK & (6) 14.85/-0.3[lO R ()  15.44/-0.3[®B —7& (6) 15.76/-0.3|MIBVAE ()  15.84/-0.3| HE & (6)  16.03/-0.3
I w7t 185 14 gy 4734 291 wF 0t ) Wt 45 53 457 2%
BETL=7 IRRC BEE=F HWBTa=7 WREELESST IRRC BgESa1=7 \LREEES ST
800m 71 |mx & 231.41[7E #F (6 2:40.91[#E FH (6 2:40.92[ 2L #x (6 2:44.53| K 2E ) 2:48.41[#L0EY @) 2:48.97 B #EFE ) 2:50.01| ABEEE () 2:52.90
TH 98 RO 1/91 21 Pt 4791 3y Wt 1R % S8
KHEE IRRC HFRC PHE=F FHE=F B2z REa1z7 AL




